

PO Box 93999 Southlake, TX 76092

Voice:

(817) 546-7282

Fax:

(817) 246-3361

Bill To:

Landmark Resources, Inc.

1616 S. Voss Suite 600

Houston, TX 77057-1264

INVOICE

Invoice Number: 138577

Invoice Date: Sep 9, 2013

Page: 1

Now Includes:



Customer ID	Field Ticket#	Payment Terms Net 30 Days	
Land	61267		
Job Location	Camp Location	Service Date	Due Date
KS1-02	Oakley	Sep 9, 2013	10/9/13

Quantity	ltem	Description		Amount
	Experimental and the second of	Gerstberger #1-30		
150.00	CEMENT MATERIALS	ASC	20.90	3,135.00
900.00	CEMENT MATERIALS	Gilsonite	0.98	882.0
16.00	CEMENT MATERIALS	Salt	26.35	421.6
12.00	CEMENT MATERIALS	WFR-2	58.70	704.4
35.00	CEMENT MATERIALS	Defoamer	9.80	343.0
71.00	CEMENT MATERIALS	FL-160	16.20	1,150.2
199.67	CEMENT SERVICE	Cubic Feet	2.48	495.1
511.20	CEMENT SERVICE	Ton Mileage	2.60	1,329.1
1.00	CEMENT SERVICE	Production Bottom Stage	2,765.75	2,765.7
60.00	CEMENT SERVICE	Pump Truck Mileage	7.70	462.0
1.00	CEMENT SERVICE	Manifold Head Rental	275.00	275.0
60.00	CEMENT SERVICE	Light Vehicle Mileage	4.40	264.0
1.00	EQUIPMENT SALES	5-1/2 D V Tool	5,335.26	5,335.2
1.00	EQUIPMENT SALES	5-1/2 Latch Down Assembly	324.09	324.0
2.00	EQUIPMENT SALES	5-1/2 Basket	394.29	788.5
17.00	EQUIPMENT SALES	5-1/2 Centralizer	57.33	974.6
1.00	EQUIPMENT SALES	5-1/2 AFU Float Shoe	408.33	408.3
1.00	CEMENT SUPERVISOR	Alan Ryan		
1.00	EQUIPMENT OPERATOR	Wayne McGhghy		
1.00	OPERATOR ASSISTANT	David Scariano		
		Subtotal		20,058.1

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 1 1/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF

\$ 5,616.27

ONLY IF PAID ON OR BEFORE
Oct 4, 2013

	Control from the Control of the Cont
Subtotal	20,058.12
Sales Tax	1,179.07
Total Invoice Amount	21,237.19
Payment/Credit Applied	
TOTAL	21,237.19

ALLIED OIL & GAS SERVICES, LLC 061267 Federal Tax I.D. # 20-8651475

D

SOUTI) EXAS 760			SER	VICE POINT:	zK)
	SEC.	TWP.	RANGE 36	CALLED OUT	ON LOCATION	LIOB START	JOB FINISH
DATE 9/4/13	30	10_				JOB START	12:00 STATE
LEASE	WELL#	1-30	LOCATION COS	NTO RUJIE	1/25 Winto	wichita	SIZE V
OLD OR NEW (Ci	rcle one)					ا	
CONTRACTOR /	Markin.	ત્રેર્		OWNER <	Sa. A	•	
TYPE OF JOB	fred.		tom stage				
HOLE SIZE 7 18		T.D S ^l u DEI	- 5004 40TO		innenen i Maii A	M. 104 - 0 A- 5.	0 0 0 0 0 0 0 0
TUBING SIZE			PTH	AMOUNTO	RDERED 1904KA	4 FRIT -1	s all
DRILL PIPE		DE	PTH	G. T. I.B.			
TOOL AV			19/1/2 HTS			_	
MEAS. LINE			DE JOINT 47 18	COMMON_ ' POZMIX		_@ 	
CEMENT LEFT IN	I.CSG. И			GEL _			
PERFS. DISPLACEMENT				CHLORIDE		@	212-00
DISPLACEMENT	EOU	UDV IDVID		ASC	150 - 980 15	@ 20°90 @ 188	5/35 00
	EQU	IPMENT		Salt	10 54	@ 2h 35	88260
PUMPTRUCK (CEMENT	ER_Ala	Ruan	- MFAII	12885	@ 58 00	704 30
		Wad	McGhahy	Defaguer Co	35/6	@ 9 00	343
BULK TRUCK		. , .	01/7	- A160_	71/6	@ 16 @	1150
# 906 I BULK TRUCK	DRIVER	Shorty	(100 (1WS)			@	100
	DRIVER	Durch	Sarion	J. II. ET WIE	IMICAT	@ 42	18
		6.00			199,60 CF	@2	1329 13
	REN	ARKS:		MILLAGE	19/4000		8460 50
Plue to Latis de plue to Latis de in 600 PSI Li Afon Tool	Frank S	UPKII, M 9 Bbi D Plug 10 PKJ	62-59 BLK	He displace in Mud, DEPTH OF J	SERVIO	CE	23
Cirulati 41				PUMPTRUC		7/	1265 25
				EXTRA FOO		_@	11000
	-	Thork	Kn	MILEAGE MANIFOLD	60 miles	@ <u>> 22</u>	20/20
	- 7	Ala	, Wayre dwill		le 60 mls	@ 4HD	264
. ,	2 24		E/io-			_@	
CHARGE TO:	desorth					FOTAL	3766 25
STREET						TOTAL	2/02
CITY	STA	TE	ZIP		DI UC & ELOAT	EOTUDARS.	(A) (A)
				14.5	PLUG & FLOAT	EQUIPMEN	.1
To: Allied Oil & G	as Servic	es, LLC.		OV Latch Game Backets	NASSENBY 1	@	5335 26 324 58 788 51
You are hereby req					er) 17 tskee 1	@ <u>57</u> =	974-
and furnish cemen				,	13188 1	_@	708-
contractor to do we doné to satisfaction				5		TOTAL	283000
contractor. I have						.01.10	
TERMS AND CO				e. SALES TAX		~	
		100			rges_20.0		, * %.
PRINTED NAME_	3 W30		2 sextles	DISCOUÑT _	· 5,616.3		D IN 30 DAYS
		\.\.\.\.\.\.\.\.\.\.\.\.\.\.\.\.\.\.\.			14,441.83	5 Net.	
CHARLETTINE \			11- 1h			2.0	



PO Box 93999 Southlake, TX 76092

Voice: Fax:

(817) 546-7282 (817) 246-3361

Bill To:

Landmark Resources, Inc. 1616 S. Voss Suite 600 Houston, TX 77057-1264

Invoice Number: 138578

Invoice Date: Sep 9, 2013

Page:

1

Now Includes:



Customer ID	Field Ticket#	Payment Terms Net 30 Days	
Land	61268		
Job Location	Camp Location	Service Date	Due Date
KS1-02	Oakley	Sep 9, 2013	10/9/13

Quantity	Item	Description	Unit Price	Amount
		Gerstberger #1-30	200-000 -00-000	
450.00	CEMENT MATERIALS	ALW	15.95	7,177.50
113.00	CEMENT MATERIALS	Flo Seal	2.97	335.61
509.81	CEMENT SERVICE	Cubic Feet	2.48	1,264.33
1,257.06	CEMENT SERVICE	Ton Mileage	2.60	3,268.36
	CEMENT SERVICE	Production Top Stage	2,406.25	2,406.25
1.00	CEMENT SUPERVISOR	Alan Ryan		
1.00	EQUIPMENT OPERATOR	Wayne McGhghy		
1.00	OPERATOR ASSISTANT	David Scariano		
		Subtotal	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	14 452 0

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 1 1/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF

4,046.57

ONLY IF PAID ON OR BEFORE Oct 4, 2013

Subtotal	14,452.05
Sales Tax	612.32
Total Invoice Amount	15,064.37
Payment/Credit Applied	
TOTAL	15,064.37

ALLIED OIL & GAS SERVICES, LLC 061268 Federal Tax I.D. # 20-8651475

REMIT TO P.O. I			202		SER	VICE POINT:	
3001		TEXAS 760				19/4	ay 5_
DATE 9/9/3	SEC.	TWP.	RANGE 36	CALLED OUT	ON LOCATION	JOB START 4:00	JOB FINISH
LEASEGORT Derge	Y WELL#	1-30	LOCATIONCOTI	4'hN RdJ	1000	COUNTY	STATE
OLD OR NEW (C			1/25 Fint		,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,		3 (1)
CONTRACTOR	1 5	~ 22				_	
CONTRACTOR YPE OF JOB	Pod.	TOD		OWNER	5an	9	
	513	T.D.	2/0/20	CEMENT			
CASING SIZE 5	1/2_		TH 4992		DERED 450	2642 1	YED C
UBING SIZE		DEI	TH	_		7.72.20	11 14 14
DRILL PIPE	111		PTH				
RES. MAX	10		TH 246/			1929	
MEAS, LINE			DEJOINT 42.12	COMMON		_@	
EMENT LEFT II	N CSG.		·/2	POZMIX GEL	·	_@ @	
ERFS.				CHLORIDE		@	
ISPLACEMENT	7		59	ASEALW	450012	@1595	7/2750
	EQU	JIPMENT				_@	
	-	4.		FloSeal	11316	@22	335-
UMP TRUCK	CEMENT	ER Har		_		@	
_372	HELPER	Must				_@	
ULK TRUCK						_@	
	DRIVER	Dovd		_		@	
ULŘ TŘUCK	Delitica	6110				@ 40	27-
_566	DRIVER	2110		HANDLING	509.1CF	@ 250	12643
Tool Clos		and o	Phy m/ 1500	DEPIR OF JUI	CHARGE ALS	<u> </u>	25
- jevi (xv)	4-0			EXTRA FOOTA	AGE	ane d	406-
Cenert 1	Will !	Crusto	iti 2066	MILEAGE			
			Along Wayes E	- MANIFOLD		@	
			Alan wayes E	139		_@	
HARGE TO:	. 00		Elector	,		_@	
HARGE TO:	ma/ho			_			2406
TREET				_		TOTAL	0106
ITY	ST/	ATE	ZIP	P	LUG & FLOAT	'EQUIPMEN	т
						_@	
				-	***	_@	
Γο: Allied Oil & Gas Services, LLC.					_@	•	
			enting equipment			_@	
nd furnish cemer					· · ·		
			e above work was If owner agent or			TOTAL	v 9
			d the "GENERAL			, OIM	
			on the reverse side		Any)		
		Hoteu	on the refuse state	TOTAL CHARC		52057	
RINTED NAME_	2~~	15	100	_ DISCOUNT	4 0465		
MARIED NAME_		\$10 /m	014-31	_ DISCOUNT	10.107		IN 30 DAYS
IGNATURE		100	1		10,40	55.49 Ne	
OUNT OVE	- Company	77	20/10/	551 3		•	